contrib_percentage <= 27.505
gini=0.5
samples = 156213
value = [/8106.5, 78106.9]

pri_current_balance <= 149924.5 asset_cost <= 86323.0
gini = 0.497 gini = 0.487
samples = 103172 samples = 53041
value = [57687.866, 49887.293] value = [20418.634, 28219.203]
contrib_percentage <= 21.225 pri_overdue_accts <= 0.5 remplnymant_typa_ﬁalaried <= G.E\ contrib_percentage <= 37.775
gini = 0.495 gini = 0.493 gini=0.47 gini = 0.
samples = 87941 samples = 15231 samples = 35614 samples = 17427
value = [51424.284, 41895.433] value = [6263.582, 7991.862] 3 value = [11810.801, 194/76.288] value = [8607.833, 87/42.917]
pri_overdue_accts <= 0.5 asset_cost <= 79639.5 credit_history_length <= 2.37/5 pri_no_of_accts <= 10.5 contrib_percentage <= 33.295 \‘ini _ 0443 employment_type__Seli_employed <= 0.5 ini = 0.489
gini = 0.489 gini=0.5 gini = 0.466 gini = 0.497 gini = 0.481 san!il Ie-s _ 13188 gini = 0.496 EEI?‘I‘I I;E - 7607
samples = 57694 samples = 30247 samples = 9749 samples = 5482 samples = 22426 valte = [:35?1 359, 7407.637] samples = 9800 Value = [30'3:13 213, 4039.077)
value = [:35999 924, 26855.801] value = [15424.759, 15039.632] value = [3150.159, 5354.541] value = [3113. 42:3 2637.321] value = [8139.442, 12068.651] _ B i value = [5604.62, 4703.84] _ B i
T o e gini = T N gini = 0.491 L gini = 0.438 gini = n 486 S e e pri_current_balarice ==2443405) [ pri_overdue Acits <=0 gini = 0.499 gini = 0.488
samples = 52527 Eamples 515? samples = 22377 Solello i Ent samples = 4579 =l n S Shifes - mE2E samples = 1889 samples = 8877 sample-s = 13549 2zl —ERES il s LT
value - [31818. 445 24717.053] value = [4181.0/9, 2138.748] value = [10589.311, 11355.309)] value = [4835.449, 3684.323] value = [1751.874, 2439.17] value = [1398.285, 2915.371] value = [2325.883, 1649.125] value [?B? 54, 988.196] value = [3733.352, 4634.807] value = [4406.09, 7433.844] value = [1751.874, 1902.246] value = [3852.7/46, 2801.594]
gini = 0.484 nﬂ_ﬂf_iEQEEiEé ;: 0.5 average_ﬁzi:ci_g%eg ;: 0.292 gini = 0.484 gini = 0.496 gini = 0.481 delinquent_accts |rl"|mls_15li::] glx mﬂnths <=1.0 gini = ﬂ_ 446 ag?n-i:f 31321 gini = 0.442 gini = 0.462 prl_nﬂ_iﬁ;’__aﬂg %:: 8.5
samples = 31755 S ar?ﬂpl E'_E ‘ 50772 S EI.I'I!inl E; _ 20672 samples = 1705 samples = 405 samples = 41/7/4 san%ples _ 1117 samples = 772 sa?nple_s _ 7896 samples = 981 samples = 12266 B aa'lple_s _ 1283
value = [20820.44, 14501 .429] value = [10998.005, 10215.623] value = [9475.734, 10575.49] value = [1113.5/77, 779.819] value = [231.899, 194.313] value = [1519.9/75, 2244 855] value = [569.417, 555.461] value = [218.123, 432.735] value = [3462.42, 4083.181] value = [270.932, 551.626] value = [3834.3/8, 6/72.916] value = [571.713, 660.928]
new_ac:-cts_ln_l?ﬁ.it__sggmﬂnths <=0.5 gini = 0.485 gini = 0. m_ﬂf_li?'l?lﬂrlljei ;: 1.5 gini = 0.495 gini = 0.459 prl_auerdli.ln?__agcés <=0.5 credlt_hlst?':?r:lgnqgg}-:: 8.708 gini = 0.5 gini = 0.415
s am?ﬁl es_: iEBED samples = 4952 samples = 13989 s Ell?‘lpl e_s _ 6683 samples = 835 samples = 282 sangple;: m1 sa?nple-_a _ 3465 samples = 994 samples = 289
value = [7783.557, 7945.201] value = [3214.448, 22/0.423] value = [6823.814, 7042.017] value = [2651.92, 3533.473] value = [353.589, 435.292] value = [215.827, 120.169] value = [2135.312, 2237.824] value = [1327.108, 1845.358] value = [502.832, 495.377] value = [68.881, 165.552]

AN SN\ | i

delinquent_accts_in_last_six_months <= 0.5 asset_cost <= 55355.0

ini — 0.499 gini = 0.494 gini = 0.486 gini = 0.485 gini = 0.499 gini = 0.462 ini — 0.489
san%ples — 10619 samples = 5201 samples = 6288 samples = 395 samples = 4194 samples = 237 EEI?‘I‘Ipll;E _ 3383
value = [5606.916, 5226.702] value = [2176.641, 2718.499] value = [2394.764, 3352.581] value = [257.156, 180.892] value = [1956.221, 2136.192] value = [179.091, 101.632] value = [1324.812, 1793.583]
FEEILETRIe B gini = 0.472 gini = 0.478 gini = 0.485
s an? les — 9932 samples = 687 samples = 181 samples = 3202
pes = value = [489.055, 302.979] value = [123.986, 81.178] value = [1200.826, 1/712.405]

value = [5117.861, 4923.723]

NN

S 1E s gini = 0.496

i) I8 samples = 3715

samples = 6217 =
value = [2973.365, 3146.12] | \Yalue =[2144.496, 1/77.603]

L\

gini = 0.496 gini = 0.498
samples = 1315 samples = 4902
value = [759.987, 628.968] value = [2213.377, 2517.152]




